End of year 7 exam revision
What do I need to revise?
1.  

2.  

3.  

4.   

What is each section of the paper and how many marks can I get?
Section A:

Section B:

Section C:

Section A practice questions:
1. 

2.  

3.  

4.  
  
5.  
 



6.  

7.  

8.  

9.  
 


10. 

In Section B, I will be given three source questions. Here are examples to use as practice:

Source A: From the chronicle of Henry Knighton. Knighton was a monk from Leicester. He wrote his chronicle in the 1390s.
It arrived through Southampton and came to Bristol, and virtually the whole town was wiped out. It was as if a sudden death had marked them down beforehand. Sheep and cattle roamed through the fields and through the crops, and there was no one to round them up. For lack of watching, animals died in countless numbers; for there was so great a shortage of servants and labourers that no one knew what needed to be done. Crops rotted unharvested in the fields. The workers were so above themselves and so bloody-minded that they took no notice of the king's command. If anyone wanted to hire them he had to pay them what they demanded. And as a result, all essentials were so expensive that something that had cost 1 pence was now worth 3 pence or 4 pence.  And all food and other necessities were extremely dear.

Study Source A. Identify and explain two ways Source A illustrates the impact of the Black Death. (4 marks)
What do I need to do for this question?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
My attempt: 
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

Source B: An extract from William of Poitier’s book The Deeds of William, Duke of the Normans and King of the English, written in about 1071; William of Poitiers was one of King William’s personal priests, but was not present at Hastings
Duke William and his men were not at all worries by the difficulty of the land: they came slowly up the hill. But the English resisted bravely and hurled back spears, javelins and weapons of all kinds including axes and stone-headed clubs. The had the advantage of the position and of remaining close together. Other advantages were their larger numbers, their strong front and the fact that their weapons could easily go through the Normans’ shields and armour.

Study Source B. Study Source B. William of Poitier’s argues that the English had a number of advantages at the Battle of Hastings. Identify and explain how he does this. (3 marks)

What do I need to do for this question?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
My attempt: 
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

Do you think Source B is reliable? (3 marks)

What do I need to do for this question?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
My attempt: 
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………







In Section C, I will be given three 10 mark questions and I have to pick one. Here are examples to use as practice:

1. Explain why there was a succession crisis in 1066 (10 marks).
2. Who was most to blame for Thomas Becket’s death?
3. Why was there a Peasants’ Revolt in 1381?

What do I need to do for this question?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

Use the space below to plan an answer to one of the above questions:
I am planning question …
Paragraph 1:
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

Paragraph 2:
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

Paragraph 3: ………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

What is my view on this question?
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
